

## Puissances de Dix (J)

$306 \div 6 =$

$306 \div 60 =$

$306 \div 600 =$

$306 \div 6\,000 =$

$306 \div 60\,000 =$

$513 \div 9 =$

$513 \div 90 =$

$513 \div 900 =$

$513 \div 9\,000 =$

$513 \div 90\,000 =$

$68 \div 4 =$

$68 \div 40 =$

$68 \div 400 =$

$68 \div 4\,000 =$

$68 \div 40\,000 =$

$333 \div 9 =$

$333 \div 90 =$

$333 \div 900 =$

$333 \div 9\,000 =$

$333 \div 90\,000 =$

$261 \div 9 =$

$261 \div 90 =$

$261 \div 900 =$

$261 \div 9\,000 =$

$261 \div 90\,000 =$

$273 \div 7 =$

$273 \div 70 =$

$273 \div 700 =$

$273 \div 7\,000 =$

$273 \div 70\,000 =$

$752 \div 8 =$

$752 \div 80 =$

$752 \div 800 =$

$752 \div 8\,000 =$

$752 \div 80\,000 =$

$132 \div 3 =$

$132 \div 30 =$

$132 \div 300 =$

$132 \div 3\,000 =$

$132 \div 30\,000 =$

$153 \div 9 =$

$153 \div 90 =$

$153 \div 900 =$

$153 \div 9\,000 =$

$153 \div 90\,000 =$

$30\,240 \div 8 =$

$30\,240 \div 80 =$

$30\,240 \div 800 =$

$30\,240 \div 8\,000 =$

$30\,240 \div 80\,000 =$

DÉFI

## Puissances de Dix (J) Solutions

$306 \div 6 = 51$	$513 \div 9 = 57$
$306 \div 60 = 5,1$	$513 \div 90 = 5,7$
$306 \div 600 = 0,51$	$513 \div 900 = 0,57$
$306 \div 6\,000 = 0,051$	$513 \div 9\,000 = 0,057$
$306 \div 60\,000 = 0,0051$	$513 \div 90\,000 = 0,0057$

$68 \div 4 = 17$	$333 \div 9 = 37$
$68 \div 40 = 1,7$	$333 \div 90 = 3,7$
$68 \div 400 = 0,17$	$333 \div 900 = 0,37$
$68 \div 4\,000 = 0,017$	$333 \div 9\,000 = 0,037$
$68 \div 40\,000 = 0,0017$	$333 \div 90\,000 = 0,0037$

$261 \div 9 = 29$	$273 \div 7 = 39$
$261 \div 90 = 2,9$	$273 \div 70 = 3,9$
$261 \div 900 = 0,29$	$273 \div 700 = 0,39$
$261 \div 9\,000 = 0,029$	$273 \div 7\,000 = 0,039$
$261 \div 90\,000 = 0,0029$	$273 \div 70\,000 = 0,0039$

$752 \div 8 = 94$	$132 \div 3 = 44$
$752 \div 80 = 9,4$	$132 \div 30 = 4,4$
$752 \div 800 = 0,94$	$132 \div 300 = 0,44$
$752 \div 8\,000 = 0,094$	$132 \div 3\,000 = 0,044$
$752 \div 80\,000 = 0,0094$	$132 \div 30\,000 = 0,0044$

$153 \div 9 = 17$	$30\,240 \div 8 = 3\,780$
$153 \div 90 = 1,7$	$30\,240 \div 80 = 378$
$153 \div 900 = 0,17$	$30\,240 \div 800 = 37,8$
$153 \div 9\,000 = 0,017$	$30\,240 \div 8\,000 = 3,78$
$153 \div 90\,000 = 0,0017$	$30\,240 \div 80\,000 = 0,378$

DÉFI